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TrigonometryExercise for ID 10281

337 197 13m 277
TlI=5m, T2 =-7m, T3=-12m, T4=14 =, 75 =— , T6 = — , T7 = , T8 =
2 2 2 2
17 = 197 40t 387 93 7 &89 1 957
79 = , TI0=—"", Tl =——""—, TI2=——"", TI3=——"7, T4 = T15=—""
3 3 3 3 4 4
91 = 55 = 97wt 149 &t 95 m
TI6=—"", TI17=—"7", TIS=—", T19=——"7, 720 =
4 6 6 6 6

11m
721 =Sin(12 nt), 722 = Cos(6 1), 723 =Tan(15 1), 724 = Cot(—5 m), T25:Cos( 5 j

T 27m ) 35 16
, 128 = Tan| —T , 129 = Sin| — , T30 = Cos 3

s 29n [ 21lm 337
, 132 =Csc| — 733 =Sin 1) T34:C0s 1 T35 = Tan| 1

471 ) 671 837
736 = Cot —T , T37 = Sin| — 738 =Cos , 139 = Cot| — T40 = Sec| — p

6
55
T41=6«/§C0t( j 5T an( J+60 3Sec( JCOS
49
]+4Cm J

27 21
126 = Sin(— Tj’ 127 = Cot(

43
731 = Tan(

\]

/ﬁ\

/ﬁ\

7%2:4%5(b{4inj—45Smf—i%EJJ_ ( jJ_Tm1
T43=2 2Sh{—6inj 28%( j J_Tm{ ;

,( 77nj (49nj ( 38nj ( 95nj
T44 = 8 Sin| — Cot — 54 Tan| — Sec| —
6 4 3 6

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXKKXXXKKKKXXXKKKXXXKKKKXKXXKKKXKX XK KKK KX KKK KKK KKK XX KKKKXKKKK




0,0:9:9.0:9:9.0,9:9.9.0:9.:9.9:9.:9.0:9:9,0:9:9.0:9:9.0,9:9.0,9:9.:0.0:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0.9:9.9.9:9.:9.0:9:0,0:9.:9.0:9:9.0,9:9.0:9:9.9,0:9.9,0:9.9,0:9.:9.0:9:9.0.0:9.0.9:9.0.9:9.0.0:9.:9,0:9.:9.0,9:9.0,0:9.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XX XXX XXX XXX XXX XXX XXXXXXKXKXXXXXXXM5/1-6800301-00011XX
TrigonometryExercise for ID 10437

17 = 21 = Tr 277
Tl =-5m, T2=10m, T3=3m, T4=-4r, 75 = 5 T6 = — 5 T7:_7’ T8 =
46 1t Tm T 83w 657 77
79 =— , TI10=—"", Tl =—"", T2 =— , TI3=—"7, TI4=—"", T15=—
3 3 3 4
55n 109 nt 95 & 115w 149 nt
T16 = 1 T17:T’ T18 = P T]9:—T, 720 = —

RI
721 =Sin(16 1), 722 =Cos(—12 ), 723 =Csc(6 1), 724 =Tan(15 n), T25=Cos(— j
8

2
( ISTCJ ( 2771) ( 97:} ) 3771) ( 3 TEJ
726 =Sin| ———— |, 127 =Cscl| ———— |, 1728 =Cot| —— |, 729 = Sin , T30 = Cos| —
2 2 2 3 3
44 231 ) 59n 51lm 43 n
T31=Sec| ———|, T32=Cot| ———— |, 733 = Sin| — , T34 =Cos| — , T35 =Tan| —
3 3 4 4 4
27m (9= 71 n 91 n 95n
T36 = Sec| — , T37 = Sin , 1738 =Cos| ——— |, T39 = Sec , T40 = Tan| —
4 6 6 6 6
2

32n 83 n (53 m 257
T41 =9 Csc(— j Cot(— —j —24/2 Sm( j Sec( J
3 6 4 3
41 &t 16w 53n 97
PQ:4CWQ—<3J—ZSW(3 j+2 2sm( jJ§CO(

T
4 6
32n 31
T43:28ec——3 — 54 Tan p

t j
nj '(19nj ( 47nj
Sin Cot| —
3 4
nj (4lnj '(97nj ( 38nj
— 2 Tan — 10 Sin| +10Cos| ———
4 6 3
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TrigonometryExercise for ID 10493

37m 31m 237 297
TI=8m, T2 =-5m, T3=-2m, T4=15m, T5 =-— , 76 = — , 17 = , 78 =
2 2 2 2
16 13 = 297 387 51m &89 1
79 =— , TI0=—"", Tl =—"", TI2=——"", TI3=——"7, T4 = , T15 =
3 3 3 3 4 4
93 7 797 137 & 133 7 83 m
Ti6 =— , T17 =— , TI8=——"", T19=—"", 720 =
4 6 6 6
) 1=
721 =Cos(—10 ), 722 = Sin(9 ), 723 =Tan(—-8 m), 724 =Sec(12 1), 725 = Cos| — 5

—_—

T 357 27 m ) 497:
, T27 =Csc N T28 = Sec N 729 = Sin T30 =Cos| —

I ([ 29m 47
, T33 =Sin , T34:C0s T35 =Tan| —

3 4 4
03m 107 101 &
, 138 =Cos| — , 139 = Cot| — , T40 = Csc| —

6 6 6
29

) oS e 2 Jsmmj

T42= 23“( J 343 Cot( j+8Csc(796 jTan(
nj_3ﬁ(}ot( ] 3[605( J+2fTan( ]
) el e
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3

29
126 = Sin(
2

231 37
T31 =Csc —T , 732 = Tan|
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j, 137 = Sin(

T41 =2 Sec(—

37
136 = Sec(
4

31
743 =24/3 Sin
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TrigonometryExercise for ID 10596

Tl =-16m, 12 =-15m,

257 1= 17 =
T3=13m, T4=14 =, 75 =— , , , T8 =
2 2 2
35m 43 1t 44 it
, TI0=—"", Tl =——""—,
3 3 3

79 =

T5 7 55 =
TI6=—"", TI17=—"7",
4 6

109 37m 107
T18—T 119 120 =

721=Sin(9n), T22=Cos(10m), T23=Csc(-16n), T24=Tan(ldn), T25= &{

17 = 277 25 i
726 = Cos _T , 127 = Tan| —T , T28 = Sec , T30 = Cos| —

nJ _(19
, 729 = Sin
2 3
14 25m an (4lm 31w
131 =Csc| ———— |, T32 = Sec , 733 =Cos| — , T34 = Sin , T35 = Sec| —

3 3 4 4
37n 43 1t i
1) 737 =Cos

4
) 67n 471 77
, T38 = Sin 739 =Cot| ——— |, 740 = Tan| —
6 6 6
9Sn 69 (73 m
T41=94/3 Tan(— —J—2 3 Csc( J 2 Sec( J+2 Sm( J
6 4 6
101 & 35m
T42=2«/gTan(—Tj—9«/§Csc( j+3 ot( j«/gSec(— p J
297 297 37w
T43 =4 Csc(— —j — 108 Cot( J Cos( J Tan( J
6 4 6 3
o

791 197 2 85 1
144 =343 Cof — {2 Cos| - | -9sed =] s
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TrigonometryExercise for ID 10599

31m 27 AN 297
Tl =-9m, T2 =-2m, T3=5m, T4=8m, 75 =— , 76 = , T7 =— , T8 =
2 2 2 2
257 56T 47 1t 28T 597 65m 87T m
79 = , TI0=——"", Tl =——"7, TI2=——"", TI3=——"7, T4 = , T15 =
3 3 3 3 4 4
69m 6lm 149 &t 717 797
TI6=—"", TI17 =—"", TI8=——""—, T19 = , 720 = —
4 6 6 6 6

721 =Sin(13 1), 722 =Cos(12 1), 723 = Cot(—15n), 724 = Csc(12 1), 125 = Cos( j
T 15 331 50n On
, 127 = Cot| — , 728 = Tan, N T29 = Sin| — 3 T30 = Cos
291w 327 43 1t 69w
T3] =Tan| ——— |, 132 =Cot| — , 133 =Cos| — , T34 = Sin
3 3 4 4
T 37w ) 71 n 43 n
, 737 =Cos 6 ) 738 = Sin _T , T39 = Sec 6 ) T40 = Csc
9n 41 34 71n
T41 =343 Tan( J— 24/2 Csc( J+ 244/ 3 Cot( jSm(— J
6 4 3 6
52m 53w
T42 =43 Cot( j— 18[(:0{ j n( : jSec( ; j
T1n 41 3
T43=24/3 Cot(——6 j—s Cos(——3 j——ﬁ Sec( j+2 Sm( j
20m 91
T44 =27 CSC(— : j ( j ~2 Sec( ]f Sm( j

2
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2
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J

j 735 = Sec| —
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736 = Csc
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TrigonometryExercise for ID 11068

33® 31m 21 = 197

Tl =-4m, T2=8m, T3="7m, T4=-13m, T5 =-— , 76 = — , 17 = , 78 =
2 2 2 2
41 Tm 10w 50m 51m 791 6lm

79 = , TI10=—"", Tl =——"", TI2=—"", TI3=——"7, TI4=—"", T15=—

3 3 3 3 4 4
57 m 127 & 83w 6lm 125 =«
Ti6 = 1 T]7:—T, T]8:T, TJQ:T’ 720 = —

"
19w AR 27m 52m ([ 25m
726 = Cos —T , T27 = Sec —T , 728 = Tan| —T , 729 =Cos , T30 = Sin 3

3
I (4lm 43 n 69 1t
, T33 = Sin , T34 =Cos| —— |, T35 =Tan,
4 4 4
T

o 95w 47
, 739 = Cot —T, 740 = Tan| — p

6
S9m 22m) 8 S5m 103 nt
741 =18 Sec(— p jCot( j—gﬁ Sin(— p j«/gCOS( p J

3
s (103 n 671 19n
—4 Sin —3Tan| —— [+ 8 Cos
6 4 3
T 357 4 89 m 55m
j—Z 3 Sin(— —j+—«/§ Cos(— —J«/ECSC(— j
3 3 6 4
T 8 45 91 =& 197
j——ﬁ Csc( 4 j«/gCot( p jCos( 3 j

3
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31
T21=Sin(-12n), T22=Cos(8n), T23=Csc(13m), T24=Sec(—6m), T25= Sin( 5

20m 25
T31 = Cot —T , T32 = Sec

231 83 (97
736 = Cot —T , 737 =Cos —T , 738 = Sin

19
742 =3 Sec

69
743 =5 Tan 4

97
144 =343 Sec
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TrigonometryExercise for ID 11423

257 237 31m 13x
Tl =-15m, T2 =-4mr, T3=11m, T4=8m, 75 = , 76 = , T7 =— , T8 =—
2 2 2 2
35m 50m 31 = 10m 45 it 91 = 891
79 = , TI0=——"", Tl =—""7, TI2=——"", Ti3 =-— , T4 =— , T15 =
3 3 3 3 4 4
95 m 67m 121 = 891 107 =
Ti6 = , T17 =— , TI18=—""", T19 = — , 720 =
4 6 6 6 6

27w
721 =Sin(-10 n), 722 =Cos(—5 m), 723 =Cot(—-6 1), 724 =Tan(13 ), T25=Cos(— 5 j
T 177w 97: R2x ) 20w
, T27:C0t—T, T28 = Csc| — 729 =Cos —T, T30 = Sin| — 3
I 25m ([ 25= 27m
, 732 =Cot 3 ) T33:C0s T34 = Sin 1) T35 =Tan| — 4
67m 3ln 97w 3l =
T36 =Csc —T, 737 =Cos , T38 = Sin| — , 739 =Csc 6 ) T40 = Tan, p
297 47
j 3C0t( J ( J [Sec( J
NEL )
Csc 2 Sin Cos
4 3
27 55m
-l -5 x-S ol -5

6lm 67 m
T44 = 2Sm( j 2[(30{ j+12 3005( jTan(— ; j
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25
126 = Sin( 5

31
731 = Tan(

T4 =24/2 Cos(

742 =184/3 Cot(

T43=343 Cot(
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TrigonometryExercise for ID 11440

237w Sw AN 31m
TI=14m, T2 =-9m, T3=-4m, T4="Tm, 75 =— , T6=—"", T7 =— , T8 =
2 2 2 2
31m 10m 41 56T 717 53m 49t
79 = , TI0=——"", Tl =——"7, TI2=——"", Ti3 = , T4 =— , T15 =
3 3 4 4 4
997 133 7 67m 891 143 &t
TiI6=——"", T]7:T’ T]8:—T, TJQ:_T’ 720 =

721=Sin(11m), T22=Cos(12m), T23=Sec(13m), T24=Csc(-6m), T25 Sm(

277 35m
T26 = Cos —T , 127 = Cot

37n
j, 128 = Sec(
2
25 ¢
731 = Cot(

) 23w 20 m
, 729 =Sin| ———— |, T30 = Cos| —
2 3
43 1t 651
, T32 = Sec , 733 =Cos , T35 =Tan| —
3 3 4
23w
T36 = Cot —T , T37 =Cos| —

J ) (5371
, T34 = Sin

4

59n ) 101 & 95n
T , 738 = Sin| — 6/ 139 =Tan| —

J T40:C0t(
37m
T41 =24/3 Sec(

] 5Im 43 1t
J—«/ESm(— j+2Tan( JCO‘[( j
6 4 3
32m S9m AN 291
T42=343 Cot(— —jﬁ Csc(— —j— 12/3 Sec(— JCOS( j
3 4 6 3
(377:] ( 35nj (347:} ( 95nj
T43 =24/ 3 Cot — 162 Tan| — Csc Sec| —
3 4 3 6
SIm 171
T44 =3 Cot(— Tj—z Cos(— T]—ﬁ Sec(——

(21=
+ 64/ 2 Sin|
6 4
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TrigonometryExercise for ID 11466

3
20m 59n ([ 5Tm
732 =Tan| — 3 ) 733 =Cos —T , T34 = Sin 1) T35 = Tan|
On (31l= 101 & 49 n
736 = Cot| — 1) T37 = Sin 6/ 738 =Cos| ———— |, 739 =Csc

6
49 1t 45 1t 47 1t
T41 =6 Csc( J Tan( J —-12 Sec( J Sm(
6 4 3
43 1t 53n 35n
T42=3 Sec( ; j— 180«/5Cos( ; jﬁcSc( ; JSIH( j
1 33n 52m 35n
T43:5«/58ec( 4 J—«/gTan( 3 J+5Csc(——J«/ECos( j
T44=2 Csc( j 642 Cos( j e Tan(
~ 0018]
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TlI=Tmn

257 197 35m 297
T2 =-12m, T3=8m, T4=-15m, 75 =— , T6 = — , T7 = , T8 =
2 2 2
13 m 16 &t 357 327 49 it 67m 53m
79 = , TI0=——"", Tl =—""7, TI2=——"", =, ==, Ti5 =—
4 4 4
717 717 797 737 137 &
TI6=—"", T17 =—"", TI8=——"", TI19=—"", 720 = —
4 6
oI
721 =Sin(-16 ) 722 =Cos(12 ), 723 =Csc(—11m) T24 = Sec(—10 1), 25 Sm(
237 On )
726 = Cos| — 127 = Csc| — N T28 = Sec _T , 729 = Sin| —
467:
731 =Csc

/ﬁ\
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a
~—

41




):9.0:9:9:9:9:9.9.9:9:9.0:9.9.9:9.9.9:9:9:9.9:9.9.90:9:9.9:9.9.9:9.9.9.9.9.9.0:9.9.0:0.0.0:0:9.9.9:9.9.0:9.0.0:9.0.0:9:9.9.9:9:0.0:9.0.0:0.9.0:0.9.9.9:9.9.9:9.9.0:9.0.0:9:9.9.0:9:0.0:9.0.9:0.9.9:0:9.9.0:9:0.0:0:¢
TrigonometryExercise for ID 11863

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX KKK XXX XXX KKK XXKXXKKXXKKXKXMS/1-6800301-00019XX

33® 197 Or 27
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TrigonometryExercise for ID 11967
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TrigonometryExercise for ID 13031
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TrigonometryExercise for ID 13093
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TrigonometryExercise for ID 13163
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TrigonometryExercise for ID 13459
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TrigonometryExercise for ID 13581

197 21 = 297 237
TI=3m, T2 =-7m, T3=-6mr, T4=12m, 75 = , 76 = , 177 =— , 78 = —
2 2 2 2
56 347 47 1t 65m 83
79=- , TI0=-——  Tll=—"", =—— T13=——", Tl4= ., T15=-—
4 4 4
55 = 557 107 = 149 &t
TI6=—"", TI17 =—"7", TI8=—""", = =—
4 6 6
721 =Sin(14 n),

722 =Cos(12 1),

3=
723 =Sec(9 1), 724 =Tan(10 1), T25:Sin( j
291
726 = Cos

237: 35n ) 20 14
5 ) T27 = Sec| — 728 = Cot N 729 = Sin —?, T30 = Cos| —

3
261 43 1t 41
131 = Tan(— TJ, 132 = Cot( j 133 = Cos(

TEJ _(257:
, T34 = Sin
4
33 = )
T36 = Sec 1) T37 = Sin| —

S9m
,  T35=Csc|l -
4
73w 49n 41 n
738 = Cos , 739 =Csc , T40 = Cot| —
6 6 6
) 39n 34 n 71n 33n
T41 =642 Sm( J Sec( j— 34/3 Cot(— J«/ECOS( j
4 3 4
35m
T42 =4 Tan( j 94/3 Cot( j 643 Sec( j 1242 Sin(— ; j
95 n 20m 651 37n
T43 = 4 CSC(— —j ) Sec(— —j 8 Tan( jﬁ Cos( j
6 3 4 6
3 57
T44 :Eﬁ Sec(

507 297 31 =
) 184/3 cot - 2 Cos | sin

6
),0:9:9.0:9:9.0.9:9.9.9:9.:9.9:9:9,0:9.:9,0:9.:9,0:9:9.0,9:9.0,9:9.0.9:9.:0.0:9.:9.0:9:9,0:9:9.0:9:9.0:9:9.0.9:9.9,0:9.0,0:9.:9,0:9:9.0:9:9.0.9:9.0.9:9.9.9:9.9.0:9.:0,0:9:9.0:9:9.0:0:0.¢

- A

X [Page = 0026]




X

0,0:9:9.0:9:9.0,9:9.9.0:9.:9.9:9.:9.0:9:9,0:9:9.0:9:9.0,9:9.0,9:9.:0.0:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0.9:9.9.9:9.:9.0:9:0,0:9.:9.0:9:9.0,9:9.0:9:9.9,0:9.9,0:9.9,0:9.:9.0:9:9.0.0:9.0.9:9.0.9:9.0.0:9.:9,0:9.:9.0,9:9.0,0:9.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXXXXKXXXXXXXXXM5/1-6800301-00027XX
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TrigonometryExercise for ID 13716

337 27 197 257
TI=10m, T2 =-14r, T3=-5m, T4=Tm, 75 =— 5 76 = , T7 =— 5 T8 = 5
46 1t 31m 297 387 65m 997 69m
79 =— , TI0=—"", Tl =——", TI2=——"", TI3=—"", Ti4=——"", Ti5 =—
3 3 3 3 4 4 4

55 = 737 131 = 101 =
TI6=—"", T17 =—"", TI8=—""", T19=——"1, 720 = —
4 6 6 6

9n
721 =Sin(-9 1), 722 =Cos(—-8 ), 723 =Tan(6 ), 724 =Cot(13 1), 725 = Sin(— 7)

TEJ (3471) ) ( 4471)
, 729 =Cos , T30 = Sin| —
3 3
I 17 n ) 59n 37w 291
, T32 = Sec —T , T33 =Sin —T , T34 = Cos 1) T35 = Sec 4

471 (497 37w 671 79w
736 = Csc| — e T37 = Sin 6 ) 738 = Cos , 739 = Sec , T40 = Tan|

6 6
9n 20T 6lm) . S9n
T41 =2 Csc( j -3 Sec(— —j +8 Cot( j Sm(— J
6 3 4
8

6
i S3m 3= 26
J Tan( J - 18 Csc( Jﬁ Sin(— j
4 3
25

29m AN 29
126 = Cos(— TJ, 127 = Csc(— Tj’ 128 = Cot( 5

16
131 = Csc(

742 =4 Sec

N\
a o | R

29 T 34 r T3 m
T43 = 64/3 Sec(— j—4 > Sin( j—ﬁCot( j+6ﬁTan( j
6 4 3 6
28 m 61 49 n ) 231
T44=4 Cos| —~ |~ 162 Seq| —— | Cse| 2 sin| - ;
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TrigonometryExercise for ID 13720

237 31m 21 = 297
Tl =-12m, T2=10m, T3=3m, T4=-11m, T5 =-— , 76 = , 77 = , 78 = —
2 2 2 2

41t 28 37 m 327 8l m 91 =
79 = , TI0=——"", Tl =——"7, 12=—""] TI13=—""", T4 =—

3 3 3 4

6lm 101 =
TI6=—"", T17 =—"",

957
, T15 =

4
2P n

(o)

1=
721 =Cos(—17 m) 722 = Sin(5 ), 723 =Csc(—-12 m), 724 =Tan( 14 ), 125 Cos( j
(27 m 5= 5= 20 m )
T26 = Sin , T27 = Sec , T28 = Csc , 1729 =Cos| ——— |, T30 = Sin| —
2 2 2 3
38m 231 )
T31 = Tan| ——3 , 732 =Cot| — 3 ) T33 = Sin| —
57 (43 =
T36 = Tan| 1) 737 = Sin 6/ 738 = Cos| —

551 277
—, T34 = Cos| — , T35=C0t
4 4 4
53 TEJ (
-, 139 = Tan|
6
31 = RN’
T41 =184/2 Cos(— 4 j«/gSec(

j T40=Csc(
257 37
p J—30 3C0t( jTan( j

32m 41
T42=34/3 Csc(—Tj—SCOt(

J ( 47nj (2871]
— 6 Sin + 8 Cos
4 6

49 it 49t o
T43=4C0t( p j—2 3Cos( J

j+ 243 Sin( jq/ Csc(
6
49 7 55 =
T44 =2 Sec| — Cos Csc
4 3
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3
63
X [Page

44 it 53 =
— |—=404/2 Sin
3 6
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TrigonometryExercise for ID 14307

37 m Sw 237 197
TlI=5m, T2 =-9m, T3=6m, T4=-12~, 75 =— , T6 =—"", T7 =— , T8 =
2 2 2 2

43t 17w 46 1t 44 it 85w 65m 797
79 = , TI0=—"", Tl =——""—, TI2=——"", Ti3 =-— , T4 = , T15 =

3 3 3 3 4 4

51m 85w 137 & 91 = 143 &t
Ti6 =— 1 T17 =", T]8:—T, TJQ:_T’

720 =
721 =Sin(-9 ), 722 =Cos(—17 m), 723 =Csc(18 ), 724 =Tan(12 nt), T25:Sin(
RIN

31n
2
17 n 15w ([ 37m 43 n
726 =Cos| ———— |, T27 =Sec| ———— |, 728 =Csc| ———— |, 729 = Sin , T30 = Cos
2 2 2 3 3
471 20m ) 59n 471 19w
T3] =Tan| ———— |, 132 = Sec| — , T33 = Sin| — , T34 =Cos| —— |, 735 = Cot| —
3 3 4 4 4
65 71 n ) 65T 37w i
736 = Tan, , 137 =Cos| — , 138 =Sin| ——— |, T39 = Sec
4 6 6
27
T41 =34/2 Csc(—

41
J, T40 = Csc(— j
6 6

4 44 nt 37 m 69 m
-=43 Sin(— —j —4/3 Sec( J +4 Cot( j

3 3 6
28 1
T42 =4/ 3 Cot(

4
67T 637 14 &t

—Csc +324/2 Sin| — Cos| —
6 4 3
297 637 53n RN’
T43=+/3 Tan(— —j ~3604/2 COS(— j Sin(— jﬁ Cot( j
6 4 6 3
357 35m
T44=124/3 Tan(— - jCos(—
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397 31m
— =542 Sec| — Csc
3 4
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TrigonometryExercise for ID 14598

Sm 21 = 15= Tm
TI=10m, T2 =-4m, T3=11mn, T4=-9 , T5=—"", T6 = — , T7 = , 8=——"
2 2 2 2
50m Tr 59m 46 1t 95 m 77 41
79 =— , TI10=—"", Tl =—"", TI2=—"", TI3=—", T14 =— , T15=
3 3 3 4 4 4
67 m 67 121 = 717 &89 1
T16 =— , TI17=—"7", TI8=—"", T19 = , 720 = —
4 6 6 6 6

177
721 =Cos(—11 m), 722 =Sin(7 ), 723 =Tan(—15 m), 724 =Sec(13 1), T25=Sin( j
25n 2l n 231 ) 44 nt 52m
726 =Cos| ———— |, 127 =Tan| ———— |, 128 =Sec| ———— |, 129 =Sin| ——— |, T30 = Cos
2 2 2 3 3
38m 19w 59n ) 231 33n
T31 =Csc —T , T32 = Sec 3 ) 733 =Cos —T , T34 = Sin —T , T35 =Csc 1

597 61w 37 m 55 = 47 1t
736 = Tan| — n; 137 =Cos 6 ) 738 = Sin , 739 =Csc 6 ) T40 = Cot| — p

6lm 37m 69m
T41 =27 2Cos( 4 j 3Csc( J 3Sec( p JCO{ 4 J

87 257
T42 = 6[005( j 9[Tan( 3CSC( ; j+ﬁsm( ; j
1 9w 28w 101 &
T43:5ﬁCot( j 3[005( j+3Sec( . jﬁTan(— , j
(45= 16 55n 103 &
144 =+[2 Sin| =~ | =12 Cos| —— | Cof -, 3 Sec ;

[Page = 0031] XXXXXXXXXXXXXXKXXXXXKXXXXKKXXXKKKKXXXKKKXXXKKKKXXXKKKKXKKKKKXKKKK XX KKK XX KKKK XX KKK KX KKKKXKKKKKX




):9.0:9:9:9:9:9.9.9:9:9.0:9.9.9:9.9.9:9:9:9.9:9.9.90:9:9.9:9.9.9:9.9.9.9.9.9.0:9.9.0:0.0.0:0:9.9.9:9.9.0:9.0.0:9.0.0:9:9.9.9:9:0.0:9.0.0:0.9.0:0.9.9.9:9.9.9:9.9.0:9.0.0:9:9.9.0:9:0.0:9.0.9:0.9.9:0:9.9.0:9:0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XX XX XXX XXX XXX XXX XXXXXXXXXXXM5/1-6800301-00032XX
TrigonometryExercise for ID 14624

21 = 1= 11m
TI=3m, T2 =-10m, T3=12m, T4=-13 =, T5 =- 5 T6 = — 5 T7 = 5 T8 =
34 n 31m 56T 47 1t 51m Im
79 =-— , T]O:—3 , Tl =——"", T ——3 , TI3=——"7, Ti4=—"", TIi5=
45t 85w 103 77
T16=—- , T17 =—, T18=——, -
4 6 6

X

T21 =Cos(8 m) 722 = Sin(9 ), 723 =Csc(9 ), 724 = Tan(—-13 ), 725 Sln(
3w 43 n
726 = Cos 5 ) 128 = Sec 729 = Cos
19 32n ) 451 57
T31 =Csc 3 ) 732 =Cot —?, T33 = Sin| — T34 =Cos e T35 = Tan| 4
73 n
, 138 = Cos| — , T40 = Csc
6 6
67m ] 41 77T n 277
T41=34/3 Cot( ; j—18 Sm(—Tj Sec(— Jﬁ COS(—
47 43 n
j+54 3 Sec(——jﬁ COS(— j
6 4
s T 101 &
T43=88in( - ]—EﬁCSC(—T]—SC ( j f(:ot( j
T 37 n 43 n 47
6 )ﬁcOs( 4 J_ﬁm{ 3 jcsc(_ 6 j

35n (227
, 127 = Cot , T30 = Sin
2 3 3
471 ) 101 & 55m
736 = Cot —T, T37 = Sin| — p , 139 = Tan|
6 o
T42 =~ f CSC( j 343 Tan(
37
744 =36+/3 Sec
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TrigonometryExercise for ID 14641

37 m 31m 17 = 197
TI=13m, T2 =-9m, T3=-4m, T4=12 =, 75 =— , 76 = , T7 = , T8 =—
2 2 2 2
Tr 407 56m 17 = 69m 51m 87T m
T9=—"", TI0=——"", Tl =——"", TI12 =", TI3=—"7, Ti4=——""], T15=—""
3 3 3 3 4 4 4
49 155 n 127 nt &S m 125 &
T16:T, T17 = P T18:—T, TIQ:T’ 720 = —

131
721 = Cos(—11 ), 722 =Sin(-16 n), 723 =Csc(-5m), 724 =Sec(-17 n), T25:Sin( 5 j

27m 13w 27m 17 n (43
726 =Cos| ———— |, 127 =Tan| — , 128 =Sec| ———— |, 1729 =Cos| ———— |, T30 = Sin
2 2 2 3 3
I 14 291 ) 3w 49 n
, 732 = Cot| — , 733 =Cos , T34 =Sin| —— |, T35 = Sec
3 4 4 4
I ) 29n 671 83w 71 n
, T37=Sin| ——— |, 738 = Cos , 139 =Csc| ——— |, T40 = Cot| —
6 6 6 6
49 n 28w 47 1t 37w
T41 = 30 CSC( Jﬁ Sin( j—z 2 COS(— jﬁ Cot( j
6 3 4 6
47 357 37 43 1t
T42=8 Sin(——j—4Sec(— —j+8Tan( jﬁ Cos( j
6 3 4 6
97 1t 57w 77 297
T43=2 300{ ; j—éﬁ(:sc( y jSec(— ; jTan(— . j

17w 637 597 16w
T44=24/3 Tan(— Tj—ﬁ Sin(— Tj—z 3 COS(— Tj+ 3 Sec( . j
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28
731 = Tan(

29
136 = Cot(
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TrigonometryExercise for ID 14681
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Tl =-9m,

297 21 = 11m 11m=
T2=4nm, T3=-2m, T4=5m, 75 =— , 76 = , T7 = , T8 =—
2 2 2 2
46 1t 37 m 26 597 47 1t 57 m
79 =— , TI0=—"", =, T12 =— , Ti3 =-— , T4 = , T15 =
3 4 4
45t 03 = 85w
Ti6 =— 1 T]7:—T, Ti8 =

95 m 113 =«
, TI19=—"", 720 = —
6 6

6
721 =Cos(—12 m) 722 =Sin(17 n), T23 =Sec(15 ), 724 =Csc(—-14 1) 725 Cos(
) 33
726 =Sin| ———

297:]

2
257 297

N 127 = Cot —T , 128 = Tan|

([ 25®
J, 129 = Sm(
2
25 ¢
131 = Sec(

28w
T30 = Cos
41 35m
, 732 =Tan| — , 733 =Cos| —
3 3
19w )
T36 = Sec —T , 737 = Sin

\OUJ

j, T34 = Sin(
4

41 = 37n 1n 791
- , 738 = Cos , 739 =Tan| — , T40 = Cot
6 6 6
17 = 59m 41t 49 it
741 =54 Sin(— J Tan(— J - «/5 Cos( Jﬁ Csc( j
3 6 4 3
51m 103 & 51m 28T
T42 =4 Tan(— j “12 Cos( j J2 CSC(— j Sin( j
4 6 4
Or 16
743 =43 Cot( j 342 m( :

T
47 1t
T44 =24/ 3 Sec —T — 5 Tan|
0034]

—

MESNES

j 64/ 3 Cm( j+4Cm( j
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TrigonometryExercise for ID 14688

omn 11mx 197 17w
TI=3m, T2 =-8m, T3 =-15m, T4=12m, T5=—"", 76 = — , 77 = , 78 = —
2 2 2 2
13x 387 237 347 47 1t 69m 65m
79 = , TI0=——"", Tl =——"7, TI2=——"", TI13=—""", Ti4=——"", T15=—""
3 3 3 3 4 4 4
671 109 nt 119w 127 nt 101
T16 =— 1 T17 =", = = =_

231
2

I ) 29n
j, T30 = Sm(— J

T21=Cos(-15m), T22=Sin(-12n), T23=Tan(-16n), T24=Csc(5n), T25= Sin(

T 46
, 729 = Cos

27m 11x 11
126 = Cos(— —j, 127 = Tan(— Tj’ 128 = Cot( 5

2 3 3
37w 43 n 65 ([ 25® 53m
T31 = Sec , 732 = Tan| , 733 =Cos , T34 = Sin , 735 = Cot
3 3 4 4 4
69 1t (31l= 35 95n 5=
T36 = Tan| 1) T37 = Sin , 738 =Cos _T , 739 =Csc —T , T40 = Sec| — p

717 50T 53¢ 49 1t
41 =4C0t(—Tj— 10 COS(— Tj+ 184/3 Tan(— Jﬁ sm( ; j

6

T 397 43 n
j— 2 Cot(— Tj + 6«/?Tan( J

6
nj (437:] ( 41nj (6971}
— 54 Sec Cot| — Tan|
6 3 4

10 33mn 83w 26 65 m
T44:?Tan( 4 j«/gCOt(— TJ—ZO Cos(— Tjﬁsm( 4 J
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T42 =9 3Sec(—Tj—2 3Sin( 3

16
743 =8 Cos
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TrigonometryExercise for ID 14703

31m 237w 37m 5w
Tl =-4m, T2 =-13 =, T3=11m, T4=14 =, 75 = , T6 = — , T7 =— , 8=—"
2 2 2 2
53m 10m 37 m 327 55 = 57 m
79 = , TI0=——"", Tl =——"7, T12 =— , TI3=——"7, T4 = , T15 =
3 3 4
37m 115= 737
TiI6=——"", T]7:—T, Ti8 =

113w
, Tr9=-—""-,
6

257
721 =Sin(16 ) 722 =Cos(—14 1), 723 =Tan(-9 n), T24 = Sec(—157) 125 Sln(— 5 j
277 15=
726 = Cos —T , T27 = Tan| N 729 = Cos| —
25m 49 (65T 25n
, T32 = Sec , 733 =Cos , T34 = Sin
3 3 4 4
4 103 47 1t
, T37 =Cos| — , 739 = Sec T40 = Cot| —
4 6 6
41 &t 97 1t 38x 35m
741 = 2«/7Tan( j—36 Cos( p stc( J 2 Sm( j
41 n 69 m
T42 =43 Cot(— —]—ﬁ Sec(
6 6
231 97 1 16w
j—3«/§Csc(——j—2 3 Cos( j+ Sec J
4 6 3
83 19n 49n) (103x
T44 = Cos( j an(— Tj -2 ﬁ Cot( j Sln( j
0036]

3w 44t [ 28m
, 728 = Cot —, T30 = Sin
2 3 3
167
T3] = Tan| , T35 = Tan|
33 In (67w
T36 = Csc , T38 = Sin
89 n
J+40 Cos( jSm( J
4
1 43 1t
T43=—ﬁTan(
6
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TrigonometryExercise for ID 14714

257 15= 31m 5w

TI=13m, T2 =-4m, T3=-7m, T4=8m, 75 =— , T6 = — , T7 = , 8=—"

2 2 2 2

35m 347 26 13 = T5 7 &89 1 957

79 = , TI0=——"", Tl =——""—, T12 = , TI3=——"7, T4 = , T15 =
3 3 3 3 4 4
53 m 125 =« 55 = 83 m 85w
TI6=—"", T17 =—"", T18 =— , TI19=—"", 720 =

4 6 6 6 6

21 =
721 = Sin(-6 1), 722 = Cos(—14 ), 723 = Tan(6 ), 724 =Cot(17 1), T25=Cos(

TEJ ( 1771) ( 2571} (1971) _(257:}
, T27 =Sec| ———— |, 728 =Cot| ———— |, 729 =Cos , 730 = Sin
2 2 3 3
I 43 n (49m 3w 451
, T32 = Sec , 733 = Sin , T34 =Cos| —— |, T35 =Csc
3 4 4 4
T 771 ) 53n 49 n 55m
, 137 =Cos —T , 738 = Sin _T , 739 =Csc 6/ T40 = Cot p

g s S e RO s

89w 43 1t 2 297 67T
42 =36 Tan(—Tj sm( ; j——ﬁ Sec( p jﬁcm( ; j

(33
726 = Sin

52
131 = Cot(

49
736 = Tan(

(55
741 =4 Sm(

3

T43=9 3Sec( 101nJ fTan( j+6[c05( SInJ sc(m“j

6
, ( 101nj ( 31nj (7971] ( 47nj
T44 =10 Sin| ——— | — 54 Cot| — Tan| Csc| —
6 4 6 3
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TrigonometryExercise for ID 14746

17 = 11mx 1= 21 =
TI =-10m, T2=5m, T3=8m, T4=-9r, T5 =-— , 76 = , 177 =— , 78 =
2 2 2 2
56 257 16wt 47 1t 41 997
79 =— , TI0=—"", Tl =——""—, TI2=—"", TI13=—"", Ti4=——"", Ti5 =—
3 4 4
55 = 101 = 71 n 6lm 103 &
Ti6 = , T17=—"7, TI18=—", T19=—"", 720 = —
4 6 6 6

291
721 =Sin(16 1) 722 =Cos(—12 m), 723 =Sec(14 m), 724 = Cot(—12 m) 725 Cos(— 5 j
(15=
726 = Sin

J ( 2575} ( 971 J ( sonj ,(347:}
, 127 =Cot| ———— |, 128 =Csc| ——— 129 =Cos| — , T30 = Sin
2 2 2 3 3
49 26 ) 63 1 451
T31 =Csc , 732 =Cot| — , T33:C0s T34 = Sin| — , T35 =Csc
3 3 4 4
S51lm ) 89w 79w
736 = Cot —T , 137 = Sin| — 6 ) T38:C0s 6 ) 739 = Tan|

891
, T40 = Csc| —
6 6
357 41 &t 79 1t 28 1
T41=9 3Csc(— . J—3Tan( j—ﬁCOt( j+4Sec( . j
791) 2 101 7
T42=3 3Cot( ; j—gﬁSi( j f(:os( stc( j
37 n ([ 37= 47 n S3n
743 =6 3Csc( 3 J—lSOSm( p JSec( j ( j
14wt 79 1t 291t T
T44 =20 Cos(— : jsm( ; j—ﬁ Sec(
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29
4/ 3 Tan| —
4 3
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TrigonometryExercise for ID 15000
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15= 15= 257 297

Tl =14 =, T2 =-5m, T3=-6mr, T4=9 m, T5 =-— , 76 = , 77 = , 78 = —
2 2 2 2
38m 41 227 197 89 777 997

79 =— , TI0=—"", Tl =——""—, TI2=—"", TI13=—"", T4 =— , Ti5 =—

3 4 4 4
55 = 101 = 83w 97 103 &
Ti6 = 1 T17=—"7, T]8—T, T19=—"", 720 = —

721=Sin(6n), T22=Cos(16mn), T23=Sec(-12n), T24=Tan(9nm), T25= Sin(

15nj

2
17 = 35n 297

726 = Cos| — N 127 = Tan| 5 ) T28 = Sec| —

J ( 17nj ,(317:)
, 1729 =Cos| ———— |, T30 = Sin
2 3
35m 43 1t
T31 = Cot —?, 732 =Csc

3
) 197 S3n
, 733 = Sin| — , T34 =Cos
3 4
49
T36 = Csc

43 n
, T35=Cot| -
4 4
37 n ) 53n 53m 73w
, 737 = Cos , 738 = Sin| — , 739 =Sec| ——— |, T40 = Cot
4 6 6 6 6
101 50w 7T n 41
T41 =6+/3 Cos(— —6 j—216 Tan(— 3 J Sec(—

jﬁsm( }

6 4
37 1

T42 =16 Sec(

53 = 47 1t 49t
J Cot( J —44/3 Tan(— J Cos( j
3 4 6
1 291
T43 = Eﬁ Csc(

3

5= 177w 27 n
4 J—3«/§Cot(—Tj—5 Sec(—Tj+3«/ECOS(— j

4
49 it
T44 =94/ 3 Cot

=) 2 ) )

Sin
4 3
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TrigonometryExercise for ID 15012

297 15= 13m 31m
Tl =-15m, T2=13m, T3=6m, T4=-2m 75 = , 76 = , T7 =— , T8 =—
2 2 2 2
47 1t 34 n 13x 26T 65m 69 671
79 = , TI0=——"", Tl =—""7, TI2=——"", TI13=—"", T4 =— , Ti5 =—
4 4 4
55 = 109 &t 89 n 797 T1n
TI6=—"", T17 =—"", TI8=——"", TI19=——"", 720 =
6 6 6
721 =Sin(17 ) 722 =Cos(10 ),

3=
726 = Cos

6
(13
723 =Sec(—11 1) 724 =Csc(12 1), T25:Sm(
21w 331
5 ) T27 = Tan| , 728 = Cot
34n
731 = Sec

j ( 26
, 729 = Sin| —
2 3
45 n
3 J, T32:Tan( J T33=COS(
43 n ) 977:
T36 = Cot —T , 737 = Sin

41 21 =
J, T34 = Sin( , T35 = Sec J

4 4
3= 89w
p 138 = Cos , 739 = Sec 6/ 740 = Cot
Tr 69 3l =
T41=10C0s( j—72C0t( 4 jTan(

23

Jsof 5]
ri=as 0d -5 tal S sl T oo 57
s f7 co % jf(

29¢
j—lO 1n( j 2Sec( J
297
T44=4 3Sin( j ( j 6[Tan(
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297w
, T30 = Cos
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TrigonometryExercise for ID 15024

15= 297 257 31m
TI=15m, T2 =-4mr, T3=2m, T4=-3m, 75 = , 76 = , 177 =— , 78 =
2 2 2 2
47t 327 197 637 49t 757
79 = , TI0=——"", Tl =——"7, =——, Ti3 = , T4 = , TS5 =——"""
3 3 3 3 4 4
69m 6lm 101 = 83w 103 &
T]6:—T, T]7:T’ T]8:—T, 719 = P 720 = —

27 7
T21 =Cos(15m) 722 = Sin(-5 m), 723 = Cot(5 ), 724 =Csc(—17 1) 725 Sln(— 5 j
3=
726 = Cos

J ( 31nj (357:} ( j , ( 29nj
, 127 =Cscl| ———— |, 728 = Cot , 729 =Cos| ———— T30 = Sin| —

2 2 2 3
20w 2

T31:S€C(_Tj’ T32:C0t(

3
T 21w 65 ™
, 733 =Cos
39n (97
T36 =Csc —T , T37 = Sin

(o)

j, T34 = Sm(
4

65m
) e
4
oI 55m 791
738 = Cos 6 ) 739 = Sec| — T40 = Cot p
391 85 m 381
741 =10 Cos( J 2 Sm( J +9 Tan( j Cot( J
4 6 3
T
T42 =54 CSC( j ( j 842 Cos(

)5 Co{zi J
T43=94/3 Sec( j 25 Tan( j 342 Cos(

91 =
+ 8 Sin|
6
37 n 31w 49n) . 47 n
T44 =24/ 3 Csc — 96 Tan| — Sec Sin| —
3 4 3
0041]

6
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TrigonometryExercise for ID 15032

257 297 197 11m=
TI=11m, T2 =-7m, T3=6m, T4=-12~, 75 = , T6 = — , T7 =— , T8 =
2 2 2 2
46 1t 31m 56T 47 1t 41 997 Tl n
79 =— , TI0=—"", Tl =——"", TI2=—"", TI13=—"", Ti4=——"", T15=—""
3 3 3 3 4 4 4

69m 71 n 67m 137 &
TiI6=——"", T17 =", TI8=——"", T19=—"7, 720 =
4 6 6 6

291
721 =Sin(8 1), 722 =Cos(—17 m), 723 =Csc(-10 1), 724 = Cot(14 ), T25:Sin(— 5 j

nj (17 TEJ (2771) ) ( 32 TEJ ( 447:}
, 127 =Csc , T28 = Tan| , 729=Sin| ——— |, T30 =Cos| —
2 2 3 3
T 37w 57Tn ([ 69m 231
, 732 =Cot , 733 =Cos e T34 = Sin 735 = Cot| — 1
TCJ

4 b
I ([ 73= 41 n 89w 29
, 737 = Sin , 138 =Cos| — 6 ) 739 = Cot| — 6 ) T40 = Csc| — p

32m 31m 6lm 52w
T41=34/3 Tan(— J —64/2 Sin(— —J + 54 Sec( J Cot( J
3 4 6 3

31m 37m 37 m 37m
742 =10 Cos( 3 j — 6484/ 2 Sin( 4 j Csc( 3 J Sec( p j

297 26 31 = 3 49n
T43:3«/5Csc( j—lOCos(—T]—6Sin( ; j+—ﬁ8ec( j

15
1726 = Cos(
2

28
731 = Csc( 3

33
736 = Csc 4

4 2 4

T 77w Slm 9=
j Sec(— Tj -3 Tan(— TJﬁCOt( 3 j
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43
744 = 54 Sin 3
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